EARAROBREBRT —5 XN—ZXBISH—F

2021128128 (H) 6ER#4H

T SR2% S

N=F4N
/e

‘(fﬁ} W ‘I%EH?’JF&] | & 15000 =

[AE%] 17%&:7,000,000  ~ 235:2,800,000 .~ 375:1,800,000  43%&:1,100,000 9 5 j&:700,000

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
1sls | 7y/ovsru7 2 ?gxﬁi 1:(5_5).6 2-2-2-1 |37.9] 80.2 | 4 (450) ;qu@?)
RINVIRTAvIUAUT7— BEA1994—FR e
<, = sy 2 | EHE 1:55.6 3-3-4-4 |37.7]80.2 | 1 58 |PARE &R
2 2| TYSARXI YA " 5.0 1) (o) | SATNDR
RiNZ—ka1—R BIYX—AARFT4T75 TIA%EE
S t 2 | EER— 1:56.0 3-3-2-2 [38.2| 76.1 | 2 530 | ERENMESE ()
3 6| EAZYMY * 5.0 @ oy | FrEIL - vaFs
R:ISVYTURR BEXTULAFTAT [SEige]
. =)= 4 2 | FIHEZ 1:56.1 6-6-7-7 |37.9| 75.8 | 7 490 | BHAEE (FR)
47| by FTUSYF 5.0 @ o | @ s
R:F4—=FITUSYF HB:hyFIYF ke
AR o2 | FRHE 1:57.6 6-6-6-6 | 39.5| 60.9 | 9 478 | FAHERES (FER)
5/gl9|YA—9—IF—F 55.0 ©) =) WREA
R I709— B:ITJEFLVY KEBIS
= 4 2 | REHERE 1:57.8 5-3-4-4 |39.8| 59.5 | 8 488 | BIESF (RH)
6 3 Dar=F === ¥¢54.0 (1 1/4) (=) LIFEA
RixAIZI7—R B:U+—9—KRAH rE H
=~ o2 | CobX=)b 1:58.0 1-1-1-2 | 40.4| 58.5 | 3 50 |AER— (ER)
7177 | RRI=F5Y (1 1/4) (-) | ) EFR—LTA TR
RiARASR=Z—9 B:wIy—HL5A =IR%US
~ A 2 | EHER 1:58.3 8-9-9-9 [39.5| 55.1 | 5 534 | SRR (FH)
8 4| FVIUHUT it B0 (1 3/4) (o) | @ JWRYFA—HSTLy KR
RiFVITHXNXN B:FUFv NE—R HEI77—LA
S~ R — s 2 | EPR 1:58.9 10-10-10-10| 39.7 | 50.4 | 10 | 464 |REBX (RR)
9111 |ZYRT=ZvTR 55.0 312 (-) |AHES
R:RTT«4 B:IY/IUUY hHE &
= 3 # 2 | HALLBATF 1:59.5 8-8-8-8 |41.1| 47.7 | 6 490 | BAKHE (RHR)
10/8[10| 7T —AR—L 55.0 a2 ) |Kexm
RiboPI—ILR BV v YNANERR =S
[ BN
Eh' 50.8-38.0
NOVIA L | 13.2-11.7-13.7-13.2-13.0-12.8-12.6-12.3-13.1
@ I1—JF—BEBIEfI
13—7+— 7,5(2,6)3(8,9)-(4,10)-1
20—7F— 7.5(2,3,6) (8,9)10,4,1
30—7— (+7,5,6) (2,3)9,8,10-4,1
43—F— (7,#5,6) (2,3)9,8,10-4,1
o ILRE
B 5 760M JA R 2-5 340/ & 2-5 1,170 3EE 2-5-6 1,610
B B 5 180M 5-6 5804 /B E 2=5 9604 3EE 5-2-6 10,510
2 130 2-6 2704 =51 5-2 2,590
6 1509

ABIC OV TRUTEREERRODDZE. THRIIZEL.




